

















HONDA
GCV135 - GCV160

1. TECHNISCHE DATEN

1. TECHNISCHE DATEN
2. ABMESSUNGEN UND GEWICHTE
3. LEISTUNGSDIAGRAMME

4. MASSZEICHNUNGEN
5. MASSZEICHNUNGEN DES ZAPFWELLENANTRIEBS
6. STROMLAUFPLANE

1. TECHNISCHE DATEN

Modell GCV135 GCV160

Typ Viertakt-Einzylindermotor mit obenliegender Nockenwelle

Hubraum 135 cm? 160 cm?

Bohrung und Hub 64 x 42 mm 64 x 50 mm

Max. Leistung 3,3 kW (4,5 PS) bei 3600 U/min 4,1 kW (5,5 PS) bei 3600 U/min
Max. Drehmoment 9,7 Nm (0,99 kgf-rm) bei 2500 U/min 11,4 Nm (1,16 kgf-m)} bei 25600 U/min
Verdichtungsverhaltnis 85:1

Kraftstoffverbrauch 313 g/kWh (230 g/PSh)
KUhlsystem ZwangsluftkGhlung
Zindsystem Transistorisierte Magnetzindung
Ziindzeitpunkt 20° vor OT

Zundkerze BPRGES (NGK)

Vergaser Flachstromvergaser, Drosselkiappenventil
Luftfiiter Trockenfilter-Ausfuhrung (Papierelement)

Drehzahlregler

Mechanische Fliehkraft-Ausfihrung

Schmiersystem

Spritzolschmierung

Olkapazitit

0,55 Liter

Empfohlene Umgebungstemperatur wéhrend des Betriebs

-5'C-40°C

AnlaRsystem

Rucklaufanlasser

Abschaltsystem

Erdung des Primarziindkreises

Empfohlener Kraftstoff

Bleifreier Kraftstoff mit einer Pumpen-Oktanzahl von 86 oder hoher

Kapazitat des Kraftstofftanks

0.9 Liter { 1,1 Liter

Drehrichtung der Zapfwelle

Im Gegenuhrzeigersinn (von der Zapfwellenantriebs-Seite gesehen)

1-1




HONDA
GCV135 - GCV160

1. ESPECIFICACIONES

1. ESPECIFICACIONES
2. DIMENSIONES Y PESOS
3. CURVAS DE RENDIMIENTO

[T

PLANOS DIMENSIONALES
PLANOS DIMENSIONALES DE LA TOMA DE FUERZA

6. DIAGRAMAS DE CONEXIONES ELECTRICAS

1. ESPECIFICACIONES

Modelo GCv13s GCV160
Tipo Monocilindrico, arbol de levas en cabeza, 4 tiempos
Cilindrada 135 cm’ 160 cm’
Calibre x carrera 64 x 42 mm 64 x 50 mm

Potencia maxima

3,3 kW (4,5 CV) a 3.600 rpm

4,1 kW (5,5 CV) a 3.600 rpm ?

Torsién maxima

9,7 Nem (0,99 kgf-m; a 2.500 rpm

11,4 Nem (1,16 kgf-m) a 2.500 rpm

Relacion de compresion

8,5:1

Consumo de combustible

313 g/kWh (230 g/CVh)

Sistema de enfriamiento

Aire forzado

Sistema de encendido

Encendido por magneto transistorizado

Distribucion del encendido

20° APMS (fijo)

Bujia

BPR6ES (NCK)

Carburador

Tipo de horizontal, valvula de mariposa

Filtro de aire

Tipo seco (Papel)

Regulador Regulador mecanico centrifugo
Sistema de lubricacién Tipo salpicadura
Capacidad de aceite 0,55 litros
Temperatura ambiental de operacién recomendada -5°C-40°C

Sistema de arranque

Arrancador de retroceso

Sistema de parada

Tierra de circuito primario de encendido

Combustible recomendado

Gasolina sin plomo, de 86 0 mds octanos de bomba

Capacidad del depésito de combustible

0,9 litros

1,1 litros

Rotacidn del eje de la toma de fuerza

Hacia la izquierda (desde el lado de la toma de fuerza)




HONDA
GCV135 - GCV160

2. DIMENSIONS AND WEIGHTS

GCV135:

Item

PTO type

N1

N2

N3

N4

Overall length

Overall width

351 mm (13.8 in)

331 mm (13.0in)

Overali height

353 mm (13.9in)

340 mm (13.4in)

358 mm (14.1in)

340 mm (13.4 in)

Dry weight

9.5 kg (20.9 Ibs)

Operating weight

GCV160:

10.8 kg (23.8 Ibs)

item

PTO type

N1

N2

N3

N4

Overall length

367 mm (14.4in)

Overall width

331 mm (13.0in)

Overall height

360 mm {14.2 in)

347 mm {(13.7 in)

3656 mm (14.3 in)

347 mm (13.7 in)

Dry weight

9.8 kg (21.6 Ibs)

Operating weight

11.1 kg (24.5 Ibs}

2. DIMENSIONS ET POIDS

GCV13s:

Type de prise de force
Elément

Longueur hors tout

Largeur hors tout

Hauteur hors tout

Poids a sec

Poids de service

GCV160:

Type de prise de force
Elément

Longueur hors tout

Largeur hors tout

Hauteur hors tout

Poids a sec

Poids de service

NI N2 N3 N4
351 mm
331 mm
353 mm 340 mm | 358 mm 340 mm
9,5 kg
10.8 kg
N1 N2 N3 N4
367 mm
331 mm
360 mm 347 mm 365 mm 347 mm
9.8 ke
11,1 kg

1-2



HONDA
GCV135 - GCV160

2. ABMESSUNGEN UND GEWICHTE

GCV135:
Art des Zapfwellenantriebs
Gegenstand N N2 N3 N
Gesamtlange 351 mm
Gesamtbreite 331 mm
Gesamthohe 353 mm 340 mm 358 mm f 340 mm
Trockengewicht 9,5 kg
Betriebsgewicht 10,8 kg
GCV160:
Art des Zapfwellenantriebs
Gegenstand N N2 N3 Na
Gesamtléange 367 mm
Gesamtbreite 331 mm
Gesamthohe 360 mm 347 mm | 365 mm 347 mm
Trockengewicht 9,8 kg
Betriebsgewicht 11,1 kg
2. DIMENSIONES Y PESOS
GCV135:
Tipo de toma de fuerza
ftem N1 N2 N3 N4
Longitud total 351 mm
Anchura total 331 mm
Altura total 353 mm 340 mm 358 mm 340 mm
Peso en seco 9,5 kg
Peso en orden de marcha 10,8 kg
GCV160:
Tipo de toma de fuerza
ftem N1 N2 N3 N4
Longitud total 367 mm
Anchura total 331 mm
Altura total 360 mm 347 mm 365 mm 347 mm
Peso en seco 9,8 kg
Peso en orden de marcha 11,1 kg

1-2



HONDA
GCV135 + GCV160

3. PERFORMANCE CURVES

Power curves are according to SAE standard No. J-1995. For practical operations, the bhp load and engine speed should
not exceed the limit defined by the “Recommended Maximum Operating bhp” curve.
Continuous operation should not exceed 80% of the “Maximum bhp”.

GCV135: GCV160:
Nem)(Ibf-ft
o1 (N-m)(IbE-F4 o (N-mi (Ibf-F1)
D 9
MAXIMUM TORQUE ] O — MAXIMUM TORQUE 12" 8
I 9 E 1118 S
(HP) (kW) - -
A g6l 1 —
(HP) (kW) 74
5 5
(4] L i
L, MAXIMUM__— | °
847 bhp s |, (4]
s || |7 - . ] MAXlMW
E | T T g bhe
2 3 3 e
o7, .+~ [51 RECOMMENDED MAXIMUM o
w OPERATING bhp o a3
2 (o]
T I 17151 RECOMMENDED MAXIMUM
=, = 3 OPERATING bhp
B F2 ==
| "16]
RECOMMENDED OPERATING ” RECOMMENDED OPERATING
SPEED RANGE SPEED RANGE
O_LO L1 l
L 1 1 1 | L 1 i 1 — |
2,000 *1:3,000 3,600 4,000 2,000 *1:3,000 3.600 4,000

[7] ENGINE SPEED [min™ (rpm)]

[8] *1: Rated speed

3. COURBES DE
PERFORMANCES

Les courbes de performances sont en fonction de
la norme SAE N°J-1995. Pour des opérations
pratiques, la charge en kW et le régime moteur ne
doivent pas dépasser la limite définie par la
courbe “kW de service maximum recommandé”.
Une opération continue ne doit pas dépasser 80%
du “kW maximum”.

{1] PUISSANCE (kW)

[2] COUPLE MAXIMUM

[3] COUPLE

[4] kW MAXIMUM

[5] kW DE SERVICE MAXIMUM
RECOMMANDE

[6] GAMME DE VITESSE DE SERVICE
RECOMMANDEE

[7] REGIME MOTEUR (tr/mn)

[8] *1: Vitesse nominale

{71 ENGINE SPEED [min' (rpm])]

[8] *1: Rated speed

3. LEISTUNGSDIAGRAMME

Die Leistungsdiagramme wurden in
Ubereinstimmung mit dem SAE-Standard J-
1995 erstellt. Beim Gerateeinsatz durfen die
BPS-Belastung und die Motordrehzahl den
durch Linie der “Empfohienen
Hochstbetriebsleistung (EPS}” angezeigten
Wert nicht uberschreiten.

im Dauerbetrieb durfen 80% der "Maximalen
BPS” nicht Uberschritten werden

[1] LEISTUNG (BPS)

{2] MAXIMALES DREHMOMENT

(3] DREHMOMENT

{4] MAXIMALE BPS-LEISTUNG

[5] EMPFOHLENE BPS-
HOCHSTBETRIEBSLEISTUNG

[6] EMPFOHLENER DREHZAHLBEREICH

(7] MOTORDREHZAHL (U/min}

[8] *1: Nenndrehzahl

3. CURVAS DE RENDIMIENTO

Las curvas de potencia conforman las normas
SAE N.° J-1995. Para operaciones practicas, la
carga bhp y la velocidad del motor no deben
exceder el limite definido por la curva de “bhp
de operacion méaximos recomendados”.

La operacién continua no deberd exceder el
80% de los “bhp maximos”.

{1] CABALLOS DE POTENCIA (bhp)

[2] TORSION MAXIMA

3] TORSION

{4] MAXIMOS bph

[5] bhp DE OPERACION MAXIMOS
RECOMENDADOS

{6] MARGEN DE VELOCIDAD DE
OPERACION RECOMENDADO

{7] VELOCIDAD DEL MOTOR (rpm)

[8] *1: Velocidad nominal

1-3



HONDA
GCV135 - GCV160

4. DIMENSIONAL DRAWINGS

Unit: mm (in)

[ 1:GCV135
!
i
LT
== =) §3
— < 2 ‘
2|, @
Z\z ]
ale E
2l -
O (V4 e
S LA -
2lgla 5]
vgg of -
Riglz =
o 3= o
57 gelz 2
) c|&|§ Sl=
- TA -Zels 23
al|Z|Z z|s
o SRz 3|8
dle oS
~la o
HE s
EAR 2
S ~
T z|z
I &
i 2
! =&lz
| =88 147.5 (5.81) | 183.5(7.22)
t i
331(13.0)
2]
CYLINDER
4- ¢ 8 (HOLE)
|
"
) 5
- ) 7
S(Q.: /4p6'34</
- ~ 7 440 Ne
- 3 OR 5 CET 2,
0&5\? & “p
033,
\ ! (3] SECTION A-A
Y
0

4. SCHEMA DE DIMENSIONS 4. MASSZEICHNUNGEN 4. PLANOS DIMENSIONALES

{ . GCVI35 [ : GCV135 [ 1 GCVI3S

Unité: mm Einheit: mm Unidad: mm

{1] 360: Type N1, 347: types N2 et N4, 365: [1] 360: Typ N1; 347: Typen N2 und N4; 365: | [1] 360: Tipo N1, 347: Tipos N2 y N4, 365:
type N3 Typ N3 Tipo N} )
{353: Type N1, 340: types N2 et N4, 358: (363: Typ N1; 340: Typen N2 und N4; 358: {353: Tipo N1, 340 : Tipos N2 y N4, 358:
type N3] Typ N3] Tipo N3]

(2] CYLINDRE [2) ZYLINDER {2] CILINDRO

[3] COUPE A-A (3] BEREICH A-A (3] SECCION A-A

1-4



HONDA.
GCV135 - GCV160

5. PTO DIMENSIONAL DRAWINGS

+ N1 type
4.7635°%° 2°
(0.1875 12912 a
S
0
. ©
? ;
1. —1
. 3
Y
4 +é),o:so | O:";_
0.2 :»(;10012 ) ua
> N
=]
©
<
« N2 type
476375 32
(0.1875 20012 &
=]
2
prs

|
4!__‘
\4/
1

4 +0.030
(0.2 ;3).0012 )

6.6 °0, (0.26 Cos)

5. SCHEMAS DE DIMENSIONS
DE PRISE DE FORCE

Unité: mm

* Type N1

[1} Face de fixation de moteur

* Type N2
[1} Face de fixation de moteur

D025 (0.87 20 )

22.2

Unit : mm {in)

.0010 )

+0

(0.87

+0

22.2

S 40 (1.6)
b4 % -
< o 24 (0.9)
~N
Lf ~
) =
2 <t
Qe o~ ’
®
™ | Meeeeeeeeeens
i :
Y § I SRR A \ N, 4 ,_ _—
'['?\ N ;
7 :
L .La’ ‘_.[_/L i ; SRR, v
L (3 L-
}' {9,0(4(0-6‘) ‘I’ !
| % | |
10.3 (0.41) 1 1 “[”
“46.8 i ' i
5.8 (1.84) \ Engine mounting
80.2 (3.16) face
85.5 (3.37)
32(1.3)
a
S s
' @ 24 {0.9)
o~
LZL' ~
@ o
b <
= & )
®
& SIS TR
4 § .
- SRR U\ SRR VRS (I | S S
,{f\. PR
{_\‘:/L R s | SOSO v
. M o
e {
| e
! (A
10.3 (0.41) K Engine mounting
61.9 (2.44) face
67.2 (2.65)

5. MASSZEICHNUNGEN DES
ZAPFWELLENANTRIEBS

Einheit mm

* Typ N1

{1] Stirnflache der Motoraufhangung

e Typ N2

[1] Stirnflache der Motoraufhangung

5. PLANOS DIMENSIONALES DE
LA TOMA DE FUERZA

Unidad: mm

¢ Tipo N1

(1] Superficie de montaje del motor

* Tipo N2

[1] Superficie de montaje del motor

1-5



HONDA
GCV135 - GCV160

« N3 type

6.35 *59% (0.250 70%"?)

™S

9.372, (0.37 *000s )

(L

e

+0.030

4.763 29 (0.1875:39"% )

« N4 type

6.35 00 (0.250 15%"?)

)

«0
~0.004

8.470,10.33

9.3%0, (0.37 0004 )

|
i
|

»te

i

4.763 *2%% (0.1875 159"

Unité: mm
¢ Type N3
[1] Face de fixation de moteur
* Type N4
[1] Face de fixation de moteur

8.4 %2, (0.33 D0 )

o 40 (1.6)
- <
g a 24{0.9)
29 w
2 5 T
- ht
@ ~
og | A
+ 1 Q
5 & |
4
HE=Tp——— Hi- -
3
N LT »
< Y . . L B | SERTIOPN v
T',:\\‘:7(Q5‘ '\"_/
{,.‘ /epzzfo.a i’ N
I & |
. . N
10.3 (0.41) 1]
46.8 (1.84) : \ Engine mounting
¢ face
80.2 (3.16)
85.5 (3.37)
o 32(1.3)
e <
‘22 @ 24(0.9)
o z
= o]
) < Y
S o~
29 ! 1
0 i
N ™ [T TILN
i .
y P
HE——P——— -
p‘?\\ ’/"!\ N é ‘
r\&_\r.{_/L !
NEXKe
{'25 & F
10304l | e T
e Q7
e nr _
30.2(1.19) Engine mounting
61.9 (2.44) face
67.2 (2.65)
Einheit: mm Unidad: mm
* Typ N3 * Tipo N3
{1] Stirnflache der Motoraufhangung [1] Superficie de montaje del motor
* Typ N4 * Tipo N4

{1] Stirnfidache der Motoraufhangung

{1] Superficie de montaje del motor

1-6



HONDA
GCV135 - GCV160

6. WIRING DIAGRAMS

» With flywheel brake

BI
(sl
ENGINE SWITCH
CONTACT
RUN OPEN
STOP CLOSE
Bi { Black Br | Brown
Y | Yellow O | Orange
Bu| Blue Lb { Light blue
G | Green Lg | Light green
R | Red P | Pink
—_ — - w N
(] 12 (4] White Gr | Gray
SPARK IGNITION ENGINE STOP
PLUG COiL SWITCH
(NORMAL CLOSE Bl | Noir Br{ Marron
CONTACT)
Y | Jaune O | Orange
« Without flywheel brake Bu| Bleu Lb| Bleu clair
BI G | Vert Lg| Vert clair
R | Rouge P | Rose
W | Blanc Gr| Gris
Bl | Schwarz | Br{ Braun
Y | Geib O | Orangefarben
18] Bu|Blau Lb | Hellblau
ENGINE SWITCH " 0
CONTACT G | Grun Lg | Heligran
RUN OPEN R | Rot P | Rosa
STOP CLOSE W | Weif Gr | Grau
m 2] (6} Bl | Negro | Br | Marron
SPARK IGNITION ENGINE STOP Y | Amarillo| O | Naranja
PLUG ColL SWITCH
(NORMAL OPEN Bu| Azul Lb | Azul claro
CONTACT) G {Verde |Lg| Verde claro
R | Rojo P | Rosa
W | Blanco |Gr! Gris

6. SCHEMA DE CABLAGE

* Avec frein de volant moteur

[1] BOUGIE D’ALLUMAGE

[2] BOBINE D’ALLUMAGE

{3] UNITE

{4] COMMUTATEUR D’ARRET DE
MOTEUR (CONTACT FERME

6. STROMLAUFPLANE
¢ Mit Schwungscheibenbremse

1) ZUNDKERZE

{21 ZUNDSPULE

{3] ZUNDEINHEIT

{4] MOTORSTOPPSCHALTER (KONTAKT
NORMALERWEISE GESCHLOSSEN)

(5] NORMAL) ©l MOTOR | SCHALTERKONTAKT
MOTEUR | CONTACT DE COMMUTATEUR BETRIEB | OFFEN
MARCHE | OUVERT STOPP GESCHLOSSEN
ARRET FERME

« Sans frein de volant moteur
[6] COMMUTATEUR D’ARRET DE

MOTEUR (CONTACT OUVERT
NORMAL)

* Ohne Schwungscheibenbremse

{61 MOTORSTOPPSCHALTER (KONTAKT
NORMALERWEISE OFFEN)

6. DIAGRAMAS DE CONEXIONES
ELECTRICAS

* Con freno del volante del motor

[1] BUJIA

[2] BOBINA DE ENCENDIDO

[3] UNIDAD

[4] INTERRUPTOR DE PARADA DEL MOTOR
(CONTACTO DE CIERRE NORMAL)

[5]

CONTACTO DEL INTERRUPTOR
ABIERTO
CERRADO

MOTOR
MARCHA
PARADA

 Sin freno del volante del motor

[6] INTERRUPTOR DE PARADA DEL MOTOR
(CONTACTO ABIERTO NORMAL)

1-7



HONDA

2. SERVICE INFORMATION GCV135 - GCV160

1. THE IMPORTANCE OF PROPER SERVICING 6. TORQUE VALUES

2. IMPORTANT SAFETY PRECAUTIONS 7. SPECIAL TOOLS
3. SERVICE RULES 8. TROUBLESHOOTING
4. SERIAL NUMBER LOCATION 9. HARNESS ROUTING

5. MAINTENANCE STANDARDS

1. THE IMPORTANCE OF PROPER SERVICING

Proper servicing is essential to the safety of the operator and the reliability of the engine. Any error or oversight made by
the technician while servicing can easily result in faulty operation, damage to the engine or injury to the operator.

Improper servicing can cause an unsafe condition that can lead to serious injury or death.
Follow the procedures and precautions in this shop manual carefully.

Some of the most important precautions are given below. However, we cannot warn you of every conceivable hazard that
can arise in performing maintenance or repairs. Only you can decide whether or not you should perform a given task.

| A WARNING

Failure to follow maintenance instructions and precautions can cause you to be seriously hurt or killed.
Follow the procedures and precautions in this shop manual carefully.

2. IMPORTANT SAFETY PRECAUTIONS

Be sure you have a clear understanding of all basic shop safety practices and that you are wearing appropriate clothing
and safety equipment. When performing maintenance or repairs, be especially careful of the following:

« Read the instructions before you begin, and be sure you have the tools and skills required to perform the tasks safely.
Be sure the engine is off before you begin any maintenance or repairs. This will reduce the possibility of several hazards:

« Carbon monoxide poisoning from engine exhaust.
Be sure there is adequate ventilation whenever you run the engine.

« Burns from hot parts.
Let the engine cool before you touch it.

« Injury from moving parts.
Do not run the engine unless the instruction tells you to do so. Even then, keep your hands, fingers, and clothing away.

To reduce the possibility of a fire or explosion, be careful when working around gasoline. Use only a nonflammable
solvent, not gasoline, to clean parts. Keep all cigarettes, sparks, and flames away from all fuel-reiated parts.

2-1



HONDA
GCV135 - GCV160

3. SERVICE RULES

1.

w N

~No o

Use genuine Honda or Honda-recommended parts and lubricants or their equivalents. Parts that do not meet Honda's
design specifications may damage the engine.

Use the special tools designed for the product.

Install new gaskets, O-rings, etc. when reassembling.

When torquing bolts or nuts, begin with larger-diameter or inner bolts first and tighten to the specified torque diagonally,
unless a particular sequence is specified.

Clean parts in cleaning solvent upon disassembly. Lubricate any sliding surfaces before reassembly.

After reassembly, check all parts for proper installation and operation.

Many screws used in this machine are self-tapping. Be aware that cross-threading or overtightening these screws will
strip the threads and ruin the hole.

Use only metric tools when servicing this engine. Metric bolts, nuts and screws are not interchangeable with nonmetric
fasteners. The use of incorrect tools and fasteners will damage the engine.

Follow the instructions represented by these symbols when they are used:

-—-@ :Apply grease :Use special tool :Apply oil

O x O (O): Indicates the diameter, length, and number of the flange bolt used.
P. : Indicates the reference page.

4. SERIAL NUMBER LOCATION

The engine serial number is stamped on the cylinder barrel. Refer to this when ordering parts or making technical inquiries.

ENGINE SERIAL NUMBER

2-2



HONDA
GCV135 - GCV160

2. INFORMATIONS D’ENTRETIEN

1. IMPORTANCE D’UN BON ENTRETIEN 6. VALEURS DES COUPLES DE SERRAGE
2. IMPORTANTES PRECAUTIONS DE SECURITE 7. OUTILS SPECIAUX

3. REGLES D’ENTRETIEN 8. DEPISTAGE DES PANNES

4. EMPLACEMENT DU NUMERO DE SERIE 9. ACHEMINEMENT DES FAISCEAUX

5. NORMES D’ENTRETIEN

1. IMPORTANCE D’UN BON ENTRETIEN

Un bon entretien est essentiel a la sécurité de I"opérateur et la fiabilité du moteur. Toute erreur ou omission faite par le technicien pendant I’entretien peut
facilement entrainer une utilisation défectueuse, des dommages au moteur ou des blessures a 1’opérateur.

Un mauvais entretien peut provoquer une condition peu siire pouvant entrainer de graves blessures, voire la mort.
Suivre attentivement les procédures et mises en garde de ce manuel d’atelier.

Certaines des précautions les plus importantes sonl données ci-dessous. Cependant, nous ne pouvons pas vous prévenir de tous les risques concevables
pouvant se poser lors de I'entretien ou de réparations. Vous seul pouvez décider si vous devez oui ou non effectuer une tiche donnée.

La non observation des précautions et instructions d’entretien peut vous causer de graves blessures, voire la mort.
Suivre attentivement les procédures et mises en garde de ce manuel d’atelier.

2. IMPORTANTES PRECAUTIONS DE SECURITE

Toujours avoir une bonne compréhension de toutes les pratiques de base en matiere de siireté d’atelier, et porter des vétements et un équipement de sécurité
appropri€s. Lors de I'entretien ou de réparations, faire spécialement attention aux points suivants:

¢ Lire les instructions avant de commencer, et avoir toujours les outils et techniques nécessaires pour effectuer en toute sécurité les tiches.
Vérifier que le moteur est coupé avant de commencer un entretien ou des réparations. Cela réduira les risques de plusieurs dangers:

* Empoisonnement au monoxyde de carbone par I’échappement du moteur.
Vérifier qu’il y a une ventilation adéquate chaque fois que le moteur tourne.

* Briilures par des piéces chaudes.
Laisser refroidir le moteur avant de le toucher.

« Blessures par des piéces mobiles.
Ne pas faire tourner le moteur a moins d’en étre instruit. Méme dans ce cas, garder mains, doigts et vétements 2 distance.

Pour réduire les risques d’incendie ou d’explosion, faire attention en cas de travail autour de 1'essence. N'utiliser qu'un solvant non inflammable, pas de
I'essence, pour nettoyer les piéces. Garder toutes les cigarettes, étincelles et flammes 2 distance de toutes les piéces liées a I’essence.




HONDA
GCV135 - GCV160

3. REGLES D’ENTRETIEN

1.

Utiliser des piéces et des lubrifiants d’origine Honda ou recommandés par Honda ou leurs équivalents. Les pi¢ces qui ne satisfont pas les caractéristiques
de conception de Honda peuvent endommager le moteur.

Utiliser les outils spéciaux congus pour le produit.

Poser de nouveaux joints, joints toriques, etc. lors du remontage.

Lors du serrage des boulons ou des écrous, commencer d’abord par le boulon au diamétre plus large ou le boulon interne, et serrer en diagonale au coupie
de serrage spécifié, a moins qu une séquence particuliere ne soit spécifiée.

Nettoyer les pieces dans un solvant de nettoyage au démontage. Lubrifier toute surface coulissante avant le remontage.

Aprés le remontage, vérifier si 'installation et le fonctionnement de toutes les pigces sont corrects.

De nombreuses vis utilisées dans cette machine sont des vis de taraudage. Etre conscient que foirer ou trop serrer ces vis mangera les filets et abimera le
trou.

. N'utiliser que des outils métriques pour entretenir ce moteur. Les boulons. écrous et vis métriques ne sont pas interchangeables avec des piéces de fixation

non métriques. L utilisation d oulils et de pieces de fixation incorrects peut endommager e moteur.
Suivre les instructions représentées par ces symboles lorsqu’ils sont utilisés:

"@ : Appliquer de la graisse - Utiliser un outil spécial : Appliquer de I'huile

O x O (O): Indique le diametre, la longueur et le numéro du boulon a collerette utilisé.

P.

: Indique la page de référence.

4. EMPLACEMENT DU NUMERO DE SERIE

Le numéro de série du moteur est gravé sur le ft de cylindre. Toujours 5"y référer en cas de commande de piéces ou d’enquéte technique.

)
.'!""f L
—

NUMERO DE SERIE DE MOTEUR




HONDA.
GCV135 - GCV160

2. WARTUNGSINFORMATIONEN

1. WICHTIGKEIT DER REGELMASSIGEN 5. WARTUNGSSPEZIFIKATIONEN
WARTUNGSARBEITEN 6. ANZUGSDREHMOMENT-WERTE
2. WICHTIGE SICHERHEITSHINWEISE 7. SPEZIALWERKZEUGE
3. WARTUNGSANWEISUNGEN 8. STORUNGSBESEITIGUNG
9.

4. LAGE DER SERIENNUMMER VERLEGUNG DER SEILZUGE

1. WICHTIGKEIT DER REGELMASSIGEN WARTUNGSARBEITEN

RegelmaRige Wartungsarbeiten sind fur die Sicherheit der Bedienungsperson und die Zuverlassigkeit des Motors von groer Bedeutung. Eine inkorrekte
oder unvollstandige Ausfihrung der Wartungsarbeiten durch den Kundendiensttechniker kann in einer Funktionsstérung oder Beschadigung des Motors
resultieren oder sogar Verletzungen der Bedienungsperson verursachen.

Eine inkorrekte Ausfihrung der Wartungsarbeiten kann die Betriebssicherheit beeintrachtigen und zu schweren oder sogar tédlichen
Verletzungen fiihren.

Die in diesem Werkstatthandbuch vermerkten Anweisungen sind genau zu befolgen und alle Vorsichtshinweise sorgfaltig zu beachten.

Einige der wichtigsten Vorsichtsmanahmen sind nachfolgend vermerkt. Es ist allerdings nicht méglich, auf alle denkbaren Gefahren hinzuweisen, die
bei der Ausflhrung von Wartungsarbeiten oder Reparaturen auftreten kénnen. Die Entscheidung, ob Sie eine bestimmte Arbeit eigenhandig ausfihren
koénnen, muR thnen selbst (bertassen bleiben.

Bei Nichtbeachtung der Wartungsanweisungen und VorsichtsmaBnahmen kdnnen schwere oder sogar tédliche Verletzungen die Folge
sein.

Die in diesem Werkstatthandbuch angegebenen Hinweise und VorsichtsmalRnahmen sind unbedingt zu beachten.

2. WICHTIGE SICHERHEITSHINWEISE

Vergewissern Sie sich, dafl Sie mit allen grundlegenden Sicherheitsaspekten bei Reparaturarbeiten vertraut sind, und daf} Sie geeignete Kleidung und
Schutzausrlstung tragen. Bei der Durchfiihrung von Wartungsarbeiten oder Reparaturen sind die folgenden Punkte besonders zu beachten:

* Lesen Sie die Anweisungen vor Arbeitsbeginn durch; vergewissern Sie sich, daR Sie die erforderlichen Werkzeuge besitzen und in der Lage
sind, die vorgesehenen Arbeiten gefahrlos ausfiihren zu kénnen.

Vergewissern Sie sich, daf$ der Motor abgestellt ist, bevor mit den Wartungsarbeiten oder Reparaturen begonnen wird. Dies reduziert die Verletzungen
von mehreren Gefahrenquellen:

* Kohlendioxid-Vergiftung durch Auspuffgase.
Wenn der Motor laufengelassen werden muR, unbedingt auf ausreichende Beliiftung des Arbeitsbereichs achten.

* Verbrennungen durch heiRRe Teile.
Warten Sie, bis sich der Motor abgekiihit hat.

* Verletzungen durch sich bewegende Teile.

Den Motor nicht laufenlassen, wenn dies nicht ausdriicklich in den Anweisungen erwahnt ist. In jedem Fall die Hande, Finger und Kleidungssticke
von sich bewegenden Teilen entfernt halten.

Um die Gefahr eines Feuers oder einer Explosion zu reduzieren, ist bei allen Arbeiten mit Kraftstoff besonders sorgfaltig vorzugehen. Nur
nichtbrennbares Lasungsmittel — niemals Benzin - zum Reinigen von Teilen verwenden. Zigaretten und offene Flammen sind von allen Komponenten
des Antriebsquellen-Kraftstoffsystems fernzuhalten.

2-1



HONDA
GCV135 - GCV160

2. INFORMACION DE SERVICIO

IMPORTANCIA DEL SERVICIO ADECUADO
PRECAUCIONES DE SEGURIDAD IMPORTANTES
NORMAS DE SERVICIO

UBICACION DEL NUMERO DE SERIE

NORMAS DE MANTENIMIENTO

VALORES DE TORSION

HERRAMIENTAS ESPECIALES

LOCALIZACION Y REPARACION DE AVERIAS
ENRUTAMIENTO DE MAZOS DE CABLES

U
e N

1. IMPORTANCIA DEL SERVICIO ADECUADO

El servicio adecuado es esencial para la seguridad del operador y la fiabilidad del motor. Cualquier error u olvido por parte del mecanico cuando
realiza el servicio, puede resultar con facilidad en una operacién defectuosa, en daios en el motor, o heridas en el operador.

A ADVERTENCIA

El servicio inadecuado puede causar condiciones inseguras que pueden ocasionar heridas serias o incluso la muerte.
Siga con cuidado los procedimientos y precauciones de este manual de taller.

Algunas de las precauciones més importantes se dan a continuacién. Sin embargo, no podemos avisarle sobre todos los peligros potenciales que
puedan aparecer al realizar el mantenimiento o las reparaciones. Sélo usted podra decidir si debe o no realizar un trabajo dado.

A ADVERTENCIA

Si no se siguen las instrucciones y precauciones de mantenimiento, pueden producirse heridas serias o incluso la muerte.
Siga con cuidado los procedimientos y precauciones de este manual de taller.

2. PRECAUCIONES DE SEGURIDAD IMPORTANTES

Aseglirese de comprender bien todos los procedimientos de seguridad basicos del taller y de ponerse las ropas adecuadas y usar el equipo de
seguridad. Cuando efectie el mantenimiento o las reparaciones, tenga especialmente cuidado con lo siguiente:

* Lea las instrucciones antes de empezar, y asegirese de disponer de las herramientas y conocimientos necesarios para efectuar los trabajos con
seguridad.

Asegurese de que el motor esté desconectado antes de empezar cualquier trabajo de mantenimiento o de reparacién. De este modo reducira la
posibilidad de muchos peligros:

¢ Envenenamiento por el monéxido de carbono de los gases de escape del motor.
Asegurese de que haya ventilacién adecuada siempre que tenga en marcha el motor.

* Quemaduras de partes calientes.
Deje que se enfrie el motor antes de tocarlo.

* Daios de partes en movimiento.

No ponga en marcha el motor a menos que las instrucciones le indiquen que asi lo haga. Incluso entonces, mantenga las manos, dedos, y ropas
apartados.

Para reducir la posibilidad de incendios o explosiones, tenga cuidado cuando trabaje cerca de gasolina. Emplee s6lo solvente ininflamable, y no
gasolina, para limpiar las partes. Mantenga los cigarrillos y llamas apartados de las partes relacionadas con el combustible.




HONDA
GCV135 - GCV160

3. NORMAS DE SERVICIO

1.

w

NG

Emplee partes y lubricantes genuinos de Honda o recomendados por Honda o sus equivalentes. Las partes que no satisfacen las
especificaciones de disefio de Honda pueden causar daiios en el motor.

. Emplee las herramientas designadas para el producto.
. Instale empaquetaduras, juntas téricas, etc. nuevas cuando efectde el montaje.
. Cuando apriete los pernos o tuercas, empiece con los de mayor didmetro o con los pernos interiores primero, y apriete a la torsién especificada

en un patron en diagonal, a menos que se especifique una secuencia en particular.

. Limpie las partes con solvente cuando las desmonte. Lubrique las partes de deslizamiento antes del montaje.
. Después del montaje compruebe que la instalacién y operacién de todas las partes sean correctas.
. Muchos de los tornillos empleados en esta maquina son del tipo de autoenrosque. Tenga presente que el enrosque defectuoso o sobreenrosque

de estos tornillos danara las roscas y el orificio.

. Emplee solamente herramientas del sistema métrico para realizar el servicio del motor. Los pernos, tuercas y tornillos métricos no son

intercambiables por fijadores que no sean métricos. El empleo de herramientas y fijadores incorrectos causard dafios en el motor.

. Siga las instrucciones presentadas por estos simbolos cuando se apliquen:

'-@ : Aplicar grasa : Emplear herramientas especiales : Aplicar aceite

O x O (O): Indica el didmetro, longitud, y nimero del perno de brida utilizado.

P.

: Indica la pdgina de referencia.

4. UBICACION DEL NUMERO DE SERIE

El nimero de serie del motor estd estampado en el cilindro. Refiérase a este niimero cuando haga pedidos de piezas o preguntas técnicas.




HONDA

GCV135 - GCV160

5. MAINTENANCE STANDARDS

Part Item Standard Service limit
Engine Maximum speed
European model, with flywheel
brake 3,000 *f,min’! (rpm) —
Except for European model, with
flywheel brake 3,100 £ 150 min' {(rpm) —
Except for European model, with-
out flywheel brake 3,100 + 150 min-! (rpm) e
Idle speed 1,700 £ 150 min™' (rpm) e
Cylinder compression 0.49 MPa (5.0 kgf/cm?, 71 psi)
at 600 min™ (rpm) _
Carburetor Main jet GCV135: #60, GCV160: #65 —_
Float height 9.2 mm (0.36 in) —_—
Pilot screw opening GCV135: 1 - 5/8 turns out —_—
GCV160: 1 turns out —
Spark plug Gap 0.7 - 0.8 mm (0.028 - 0.031 in) —_—
Valves Valve clearance {(cold) IN 0.15 £+ 0.04 mm (0.006 + 0.002 in} —_—
EX 0.20 + 0.04 mm (0.008 + 0.002 in) —
Stem O. D. IN 5.48 mm (0.216 in) 5.318 mm (0.2094 in)
EX 5.44 mm (0.214 in) 5.275 mm (0.2077 in)
Guide I. D. INVEX 5.50 mm (0.217 in) 5.572 mm (0.2194 in)
Seat width IN/EX 0.7 mm (0.028 in) 1.8 mm (0.07 in)
Spring free length IN/EX 34.0 mm (1.34 in) 325 mm (1.28 in)
Piston Skirt 0. D. 63.969 mm (2.5185 in) 63.829 mm (2.5129 in}
Piston:to-cylinder clearance 0.031 -0.070 mm (0.0012 - 0.0028 in) 0.12 mm (0.005 in)
Piston pin bore I. D. 13.002 mm (0.5119 in) 13.048 mm (0.5137 in)
Pin O. D. 13.000 mm {(0.5118 in) 12.954 mm (0.5100 in)
Piston ring Ring width Top/second 1.5 mm (0.06 in) 1.37 mm (0.054 in)
Oil 25 mm (0.10 in) 2.37 mm (0.093 in)
Ring side clearance Top/second/oil | 0.015 - 0.045 mm (0.0006 — 0.0018 in) 0.15 mm (0.006 in)
Ring end gap Top 0.20 - 0.35 mm (0.008 — 0.014 in) 1.0 mm (0.04 in)
Second 0.30 - 0.45 mm (0.012 - 0.018 in) 1.0 mm (0.04 in)
Oil 0.15 - 0.35 mm (0.006 - 0.014 in) 1.0 mm (0.04 in)
Cylinder Sleeve I. D. 64.0 mm (2.52 in) 64.165 mm (2.5262 in)
Connecting rod | Smallend I. D. 13.005 mm (0.5120 in) 13.07 mm (0.515 in)
Big end I. D. 26.02 mm (1.024 in) 26.066 mm (1.0262 in)
Big end oil clearance 0.040 - 0.063 mm (0.0016 — 0.0025 in) 0.12 mm (0.005 in)
Big end axial clearance 0.1-0.4 mm (0.004 - 0.016 in) 0.8 mm (0.031 in)
Crankshaft- Main journal O. D. PTO side 27.993 mm (1.1021 in) 27.933 mm (1.0997 in)
Flywheel side 25.393 mm (0.9997 in) 25.333 mm (0.9974 in)
Crank pin O. D. o 25.98 mm (1.023 in) 25.92 mm (1.020 in)
Cylinder barrel Main journal . D. 25.420 mm (1.0008 in) 25.466 mm (1.0026 in)
Crankshaft axial clearance 0.15-0.75 mm (0.006 — 0.030 in) 1.0 mm (0.04 in)
Qil pan Main journal I. D. 28.020 mm {1.1031 in) 28.066 mm (1.1050 in)
Cam pulley Cam height 37.394 mm (1.4722 in) 37.369 mm (1.4712 in)
Cam pulley . D. (Bearing) 10.027 mm (0.3948 in) 10.075 mm (0.3967 in)
Cam pulley shaft O. D. 9.987 mm (0.3932 in) 9.920 mm (0.3906 in)
Rocker arm Rocker arm I. D. 6.000 mm (0.2362 in) 6.043 mm (0.2379 in)
Rocker arm shaft O. D. 5.990 mm (0.2358 in) 5.953 mm (0.2344 in)
Rocker arm shaft bearing !. D. 6.000 mm (0.2362 in) 6.043 mm (0.2379in)
Ignition coil Resistance Primary coil 1.0-12Q —
Secondary coil 10.6 - 12.8 k) _
Air gap (at flywheel) 0.2 -0.6 mm (0.008 - 0.024 in) —_—
Flywheel brake | Brake shoe thickness _— 3.0 mm {0.12 in)

2-3




HONDA

GCV135 - GCV160

5. NORMES D’ENTRETIEN

Hauteur de flotteur
Ouverture de la vis de richesse

9,2 mm
GCV135: 1-5/8 tour dévissé
GCV160: 1 tour dévissé

Piéce Article Valeur standard Limite de service
Moteur Vitesse max.
Modtle européen avec frein de volant moteur 3.000 70, tr/mn -
Sauf pour modele européen avec frein de volant moteur 3.100 £ 150 t/mn -
Sauf pour modéle européen sans frein de volant moteur 3.100 £ 150 tr/mn -
Régime de ralenti 1.700 £ 150 tr/mn -
Compression de cylindre 0,49 MPa (5,0 kgf/cm?) a 600 tr/mn -
Carburateur Gicleur principal GCV135: #60, GCV160: #65 -

Bougie d'allumage Ecartement 0,7 -0,8 mm -
Soupapes Jeu aux soupapes (froid) ADM 0,15 £ 0,04 mm -
ECH 0,20+ 0,04 mm -
D.E. de tige ADM 5.48 mm 5,318 mm
ECH 5.44 mm 5,275 mm
D.E. de guide ADM/ECH 5,50 mm 5572 mm
Largeur de siége ADM/ECH 0,7 mm 1.8 mm
Longueur au repos de ressort ADM/ECH 34,0 mm 32,5 mm
Piston D.E. de jupe 63,969 mm 63,829 mm
Jeu du piston dans le cylindre 0,031 - 0,070 mm 0,12 mm
D.I. d’alésage d’axe de piston 13,002 mm 13,048 mm
D.E. de piston 13,000 mm 12,954 mm
Segment de piston Largeur Feu/Etanchéité 1,5 mm 1,37 mm
Racleur d’huile 2,5 mm 2,37 mm
Jeu latéral Feu/Etanchéité/Racleur d’huile 0,015 - 0,045 mm 0,15 mm
Coupe Feu 0,20 - 0,35 mm 1,0 mm
Etanchéité 0,30 - 0.45 mm 1,0 mm
Racleur d’huile 0,15-0,35 mm 1,0 mm
Cylindre D.I. de chemise 64,0 mm 64,165 mm
Bielle D.I de pied de bielle 13,005 mm 13,07 mm
D.1. de téte de bielle 26,02 mm 26,066 mm
Jeu de lubrification de téte de bielle 0,040 - 0,063 mm 0,12 mm
Jeu axial de téte de bielle 0,1 -0,4 mm 0,8 mm
Vilebrequin D.E. de tourillon principal Coté prise de force 27,993 mm 27,933 mm
Coté volant moteur 25,393 mm 25,333 mm
D.E. de maneton 25,98 mm 25,92 mm
Fit de cylindre D.I. de tourillon principal 25,420 mm 25,466 mm
Jeu axial de vilebrequin 0,15-0,75 mm 1.0 mm
Carter d’huile D.1. de tourillon principal 28,020 mm 28,066 mm
Poulie de came Hauteur de came 37.394 mm 37,369 mm
D.1. de poulie de came (roulement) 10,027 mm 10,075 mm
D.E. d’arbre de poulie de came 9,987 mm 9,920 mm
Culbuteur D.I. de culbuteur 6,000 mm 6,043 mm
D.E. d’arbre de culbuteur 5,990 mm 5,953 mm
D.1. de roulement d’arbre de culbuteur 6,000 mm 6,043 mm
Bobine d’allumage Résistance Bobine primaire 1.0-1.2Q -
Bobine secondzire 10,6 - 12,8 kQ -
Entrefer (au niveau du volant moteur) 0.2 -0,6 mm -
Frein de volant moteur Epaisseur de machoire de frein - 3,0 mm

2-3



HONDA.
GCV135 - GCV160

5. WARTUNGSSPEZIFIKATIONEN

Teil Gegenstand Standardwert VerschleiRgrenze
Motor Hochstdrehzahl
Modelle fir Europa, mit Schwungscheibenbremse 3000 % U/min -
Ausgenommen Modelle fiir Europa, mit Schwungscheibenbremse 3100 + 150 U/min -
Ausgenommen Modelle fiir Europa, ohne Schwungscheibenbremse 3100 + 150 U/min -
Leerlaufdrehzahl 1700 + 150 U/min -
Zylinderkompression 0,49 MPa (5,0 kgf/cm?) bei 600 U/min -
Vergaser Hauptdise GCV135: Nr. 60; GCV160: Nr. 65 -
Schwimmerhohe 9,2 mm -
Offnungsstellung der Leerlaufschraube GCV135: 1-5/8 Umdrehungen herausgedreht -
GCV160: 1 Umdrehungen herausgedreht -
Zindkerze Elektrodenabstand 0,7-0,8mm -
Ventile Ventitspiel (bei kaltem Motor) EIN 0,15 £ 0,04 mm -
AUS 0,20+ 0,04 mm -
Aullendurchmesser des Ventilschafts EIN 5,48 mm 5,318 mm
AUS 5,44 mm 5,275 mm
{nnendurchmesser der Ventilfiihrung EIN/AUS 5,50 mm 5.572 mm
Ventilsitzbreite EIN/AUS 0,7 mm 1.8 mm
Freie Lange der Ventilfeder EIN/AUS 34,0 mm 32,5 mm
Kolben Auflendurchmesser des Kolbenschafts 63,969 mm 63,829 mm
Spiel zwischen Kolben und Zylinder 0,031 -0,070 mm 0,12 mm
Innendurchmesser der Kolbenbolzenbohrung 13,002 mm 13,048 mm
Aufdendurchmesser des Kolbenbolzens 13,000 mm 12,954 mm
Kolbenring Kaolbenringbreite Oberer Ring/Zweiter Ring 1,5 mm 1,37 mm
Olabstreifring 2,5 mm 2.37 mm
Kolbenring-Seitenspiel  Oberer Ring/Zweiter Ring/Olabstreifring 0,015- 0,045 mm 0,15 mm
Kolbenringstof’ Oberer Ring 0,20 - 0,35 mm 1,0 mm
Zweiter Ring 0,30- 0,45 mm 1,0 mm
Olabstreifring 0,15-0,35 mm 1,0 mm
Zylinder Innendurchmesser der Zylinderlaufbuchse 64,0 mm 64,165 mm
Pleuelstange Innendurchmesser des Pleuelstangenauges 13,0056 mm 13,07 mm
Innendurchmesser des PleuelfulRes 26,02 mm 26,066 mm
Laufspiel des PleuelfuRes 0,040 - 0,063 mm 0,12 mm
Seitenspiel des Pleuelfufes 0,1-0,4 mm 0,8 mm
Kurbelwelle AuBendurchmesser des Hauptlagerzapfens  Zapfwellenseite 27,993 mm 27,933 mm
Schwungscheibenseite 25,393 mm 25,333 mm
Auflendurchmesser des Kurbelwellenzapfens 25,98 mm 25,92 mm
Zylinderblock Innendurchmesser des Hauptlagerzapfens 25420 mm 25,466 mm
Seitenspiel der Kurbelwelle 0,15-0,75 mm 1,0 mm
Otwanne Innendurchmesser des Hauptlagerzapfens 28,020 mm 28,066 mm
Nockenwellen-Riemenscheibe | Nockenhdhe 37,394 mm 37,369 mm
innendurchmesser der Nockenwellen-Riemenscheibe {Lager) 10,027 mm 10,075 mm
AuBendurchmesser der Nockenwellen-Riemenscheibenwelle 9,987 mm 9,920 mm
Kipphebel Innendurchmesser des Kipphebels 6,000 mm 6,043 mm
Auendurchmesser der Kipphebelwelle 5,990 mm 5,953 mm
Innendurchmesser des Kipphebelwellen-Lagerbocks 6,000 mm 6,043 mm
Zindspule Widerstand Primarwicklung 1.0-1.2Q -
Sekundarwicklung 10,6 -12,8kQ -
Luftspalt (an der Schwungscheibe) 0,2-0,6 mm -
Schwungscheibenbremse Dicke des Bremsbackens - 3,0 mm




HONDA.

GCV135 - GCV160

5. NORMAS DE MANTENIMIENTO

Parte ftem Estandar Limite de servicio
Motor Velocidad méxima
Modelo europeo, con freno de volante de motor 3.000 1% rpm -
Excepto el modelo europeo, con freno de volante de motor 3.100 £ 150 rpm -
Excepto el modelo europeo, sin freno de volante de motor 3.100 £ 150 rpm -
Velocidad de ralenti 1.700 + 150 rpm -
Compresion del cilindro 0,49 MPa (5,0 kgf/cm?) a 600 rpm -
Carburador Surtidor principal GCV135: N.°60, GCV160: N.°65 -
Altura del flotador 9,2 mm -
Abertura del tornillo piloto GCV135: 1-5/8 vueltas hacia fuera -
GCV160: 1 vueltas hacia fuera -
Bujia Huelgo 0,7 - 0,8 mm
Vdlvulas Holgura de valvulas (en frio) ADM 0,15 £ 0,04 mm -
ESC 0,20 £0,04 mm -
Dia. ext. del vastago ADM 5,48 mm 5318 mm
ESC 5,44 mm 5,275 mm
Did. int. de la guia ADM/ESC 5,50 mm 5,572 mm
Anchura del asiento ADM/ESC 0,7 mm 1,8 mm
Longitud libre del resorte ADM/ESC 34,0 mm 32,5 mm
Piston Dia. ext. de la camisa 63,969 mm 63,829 mm
Holgura del piston al cilindro 0,031 - 0,070 mm 0,12 mm
Dia. int. del calibre del pasador del piston 13,002 mm 13,048 mm
Did. ext. del pasador 13,000 mm 12,954 mm
Anillos del piston Anchura del anillo Superior/Segundo 1,5 mm 1,37 mm
Aceite 2,5 mm 2,37 mm
Holgura lateral del anillo  Superior/Segundo/Aceite 0,015 - 0,045 mm 0,15 mm
Huelgo del extremo de anillo Superior 0,20-0,35 mm 1,0 mm
Segundo 0,30 - 0,45 mm 1,0 mm
Aceite 0,15-0,35 mm 1,0 mm
Cilindro Dia. int. del manguito 64,0 mm 64,165 mm
Biela Dia. int. del pie 13,005 mm 13,07 mm
Dia. int. de la cabeza 26,02 mm 26,066 mm
Holgura de aceite de la cabeza 0,040 - 0,063 mm 0,12 mm
Holgura axial de la cabeza 0,1-0,4 mm 0,8 mm
Ciglienal Did. ext. del muiin principal  Lado de la toma de fuerza 27,993 mm 27,933 mm
Lado del volante de motor 25,393 mm 25,333 mm
Dia. ext. del pasador del cigiienal 25,98 mm 25,92 mm
Cilindro Dia. int. del mufidn principal 25,420 mm 25,466 mm
Holgura axial del cigiedal 0,15-0,75 mm 1,0 mm
Depésito de aceite Dia. int. del munén principal 28,020 mm 28,066 mm
Polea de levas Altura de levas 37,394 mm 37,369 mm
Di4. int. de la polea de levas (cojinete) 10,027 mm 10,075 mm
Dia. ext. de la polea de levas 9,987 mm 9,920 mm
Balancin Dia. int. del balancin 6,000 mm 6,043 mm
Did. ext. del eje del balancin 5,990 mm 5,953 mm
Did. Int. del cojinete del eje el brazo del balancin 6,000 mm 6,043 mm
Bobina de encendido Resistencia Bobina primaria 1,0-12Q -
Bobina secundaria 10,6 - 12,8 kQ -
Huelgo de aire (en el volante de motor) 0.2-0,6 mm -
Freno del volante del motor | Espesor de las zapatas del freno - 3,0 mm




HONDA

GCV135 - GCV160
. Torque
ltem Thread Dia. (mm)
Nem kgfem Ibfsft
Oil pan bolt M6 x 1.0 (CT) 12 1.2 9
Connecting rod bolt M7 x 1.0 12 1.2 9
Valve adjusting lock nut M5 x 0.5 8 0.8 5.8
Cylinder head cover bolt M6 x 1.0 12 1.2 9
Flywheel nut M14x 1.5 52 5.3 38
Governor arm nut M6 x 1.0 10 1.0 7
Breather cover bolt M6 x 1.0 12 1.2 9
Air cleaner case bolt M6 x 1.0 (CT) 10 1.0 7
M6 x 1.0 10 1.0 7
Muffler bolt M6 x 1.0 (CT) 12 1.2 9
Recoil starter nut M6 x 1.0 85 0.85 6.1
Fan cover stud bolt M6 x 1.0 12 1.2 9
Fuel valve bracket screw M5 x 0.8 3 0.3 2.2
Governor holder bolt M6 x 1.0 12 1.2 9
Spark plug M14 x 1.25 20 2.0 14
NOTE:
+ Use standard torgue values of fasteners that are not listed in this table.
« (CT) indicates a self-tapping bolt.
e STANDARD TORQUE VALUE
. Torque
Item Thread Dia. (mm})
Nem kgfem Ibfeft
Screw 5mm 4 0.4 2.9
6 mm 9 0.9 6.5
Bolt and nut 5 mm 5 0.5 3.6
6 mm 10 1.0 7
8 mm 21 2.1 15
10 mm 34 3.5 25
12 mm 54 5.5 40
Flange bolt and nut 6 mm 12 1.2 9
8 mm 26 2.7 20
10 mm 39 4.0 29
SH bolt 6 mm 9 0.9 6.5




HONDA.
GCV135 - GCV160

6. VALEURS DES COUPLES DE SERRAGE

. Couple de serrage
Elément Dia. de filetage (mm)
Nem kgf'm
Boulon de carter d’huile M6 x 1,0 (CT) 12 1,2
Boulon de bielle M7x1,0 12 1,2
Contre-écrou de réglage de soupape M5 x 0,5 8 0,8
Boulon de cache-culbuteurs M6x 1,0 12 1,2
Ecrou de volant moteur Ml4x L5 52 53
Ecrou de biellette de régulateur M6x 1,0 10 1,0
Boulon de cache de reniflard M6x 1,0 12 1,2
Boulon de logement de filtre a air M6 x 1,0 (CT) 10 1,0
M6x 1,0 10 1.0
Boulon de silencieux M6 x 1,0 (CT) 12 1,2
Ecrou de lanceur a réenroulement M6x 1,0 85 0,85
Goujon de cache de ventilateur M6x 1,0 12 1,2
Vis de support de soupape d’alimentation M5x0,8 3 0,3
Boulon d’outil de maintien de régulateur M6x 1,0 12 1,2
Bougie d’allumage Ml14x 1,25 20 2,0

NOTE:

« Utiliser les valeurs de couple de serrage standard pour les piéces de fixation qui ne sont pas données dans ce tableau.

« (CT) indique un boulon de taraudage.

* VALEUR DES COUPLES DE SERRAGE

Couple de serrage
Elément Dia. de filetage (mm)
Nem kgf-m

Vis S mm 4 04
6 mm 9 0.9

S mm 5 0.5

Boulon et écrou 6 mm 10 1,0
8 mm 21 2,1

10 mm 34 3.5

12 mm 54 5.5

Boulon et écrou a collerette 6 mm 12 1,2
8 mm 26 2,7

10 mm 39 4,0

Boulon SH 6 mm 9 0,9




HONDA.
GCV135 - GCV160

6. ANZUGSDREHMOMENT-WERTE

) Anzugsdrehmoment
Gegenstand Gewindedurchmesser {mm}
Nm kgfom
Olwannenschraube M6 x 1,0 (CT) 12 1,2
Pleuelstangenschraube M7 x 1,0 12 1,2
Sicherungsmutter der Ventileinstellschraube M5 x 0,5 8 0.8
Schraube der Zylinderkopfhaube M6 x 1,0 12 1,2
Schwungscheibenmutter M14 x 1,5 52 53
Mutter des Drehzahiregler-Arms M6 x 1,0 10 1.0
Schraube des Entliftungsdeckels M6 x 1,0 12 1.2
Schraube des Luftfiltergehduses M6 x 1,0 (CT) 10 1,0
M6 x 1,0 10 1.0
Schalldampferschraube M6 x 1,0 (CT) 12 1,2
Mutter des Ricklaufanlassers M6 x 1,0 85 0,85
Gewindebolzen der Ventilatorabdeckung M6 x 1,0 12 1.2
Schraube der Kraftstoffhahn-Halterung M5 x 0,8 3 0.3
Schraube des Drehzahlregler-Halters M6 x 1,0 12 1,2
Zundkerze M14x 1,25 20 2,0

ZUR BEACHTUNG:

 Fir Befestigungsteile, deren Anzugsdrehmoment-Werte in der obigen Tabelle nicht aufgefuhrt sind, sich auf die Standard-Anzugswerte beziehen.

* Die mit {CT) bezeichneten Schrauben sind Schneidschrauben.

* STANDARD-ANZUGSWERTE

Anzugsdrehmoment
Gegenstand Gewindedurchmesser {(mm)
Nm kgf-m
Schraube 5 mm 0,4
6 mm 0,9
Schraube und Mutter 5mm 0.5
6 mm 10 1,0
8 mm 21 2,1
10 mm 34 35
12 mm 54 5,5
Bundschraube und -mutter 6 mm 12 1.2
8 mm 26 2,7
10 mm 39 4,0
SH-Schraube 6 mm 9 0,9

2-4



HONDA
GCV135 - GCV160

6. VALORES DE TORSION

Valores de torsion
ftem Dia. de la rosca (mm)
N-m kgf*m
Perno del depdsito de aceite M6 x 1,0 (CT) 12 1,2
Perno de la biela M7 x 1,0 12 1,2
Contratuerca de ajuste de vélvulas M5 x 0,5 8 0,8
Perno de la cubierta de la culata de cilindros M6 x 1,0 12 1,2
Tuerca del volante de motor M14x 1,5 52 53
Tuerca del brazo del regulador M6 x 1,0 10 1,0
Perno de la cubierta del respiradero M6 x 1,0 12 1,2
Perno de la caja del filtro de aire M6 x 1,0 (CT) 10 1.0
M6 x 1,0 10 1,0
Perno del silenciador M6 x 1,0 (CT) 12 1,2
Tuerca del arrancador de retroceso M6 x 1,0 8,5 0,85
Perno de espérrago de la cubierta del ventilador M6 x 1,0 12 1,2
Tornillo de la ménsula de la vdlvula de combustible M5 x 0,8 3 0,3
Perno del soporte del regulador M6 x 1,0 12 1,2
Bujia M14x 1,25 20 2,0
NOTA:

» Emplee los valores de torsion estandar para los fijadores que no estan enumerados en la tabla.

* (CT) indica un perno de autoenrosque.

e VALORES DE TORSION ESTANDAR

. Valores de torsion
ltem Did. de la rosca (mm}
N-m kgf-m

Tornillos 5 mm 4 0,4
6 mm 9 0,9
Pernos y tuercas 5 mm 5 0,5
6 mm 10 1,0
8 mm 21 2,1
10 mm 34 3,5
12 mm 54 5,5
Pernos y tuercas de brida 6 mm 12 1,2
8 mm 26 2,7
10 mm 39 4,0
Perno SH 6 mm 9 0,9




HONDA

GCV135 - GCV160
1. SPECIAL TOOLS

Tool name Tool number Application
1. Float level gauge 07701-0010000 Carburetor float level inspection
2. Valve adjusting wrench B 07708-0030400 Valve clearance adjustment
3. Valve seat cutter 45° ¢27.2 07780-0010200 Valve seat reconditioning (IN/EX)
4. Cutter holder 07981-VA20100 or Valve seat reconditioning

07981-VA20101

5. Cleaning brush 07998-VA20100 Combustion chamber cleaning

@ @

=

®

7. OUTILS SPECIAUX

Désignation de |’outil Numéro de I"outil Application
1. Indicateur de hauteur de flotteur 07701- 0010000 Contrdle de la hauteur de flotteur du carburateur
2. CIé B de réglage de soupape 07708 - 06030400 Réglage du jeu aux soupapes
3. Outil de coupe de sizge de soupape 4 45° @ 27,2 07780 - 0010200 Remise en état du siége de soupape (ECH/ADM)
4. Support d’outil de coupe 07981 - VA20100 ou Remise en état du siege de soupape
07981 - VA2010t
5. Brosse de nettoyage A 07998 - VA20100 Netoyage de la chambre de combustion

® @
©)

. ®

iﬁr —

®

2-5



HONDA
GCV135 - GCV160

7. SPEZIALWERKZEUGE

Werkzeugbezeichnung

Werkzeugnummer

Anwendung

1. Schwimmerstandslehre

2. Ventilspiel-Einstellschitssel B
3. Ventilsitzfraser, 45° @ 27,2

4. Ventilsitzfréser-Haltér

5. Reinigungsblrste

07701- 0010000
07708 - 0030400
07780 - 0010200
07981-VA20100 oder
07981-VA20101
07998 - VA20100

Uberpriifung des Schwimmerstands
Einstellung des Ventilspiels
Nachschleifen der Ventilsitze (EIN/AUS)
Nachschleifen der Ventilsitze

Reinigung der Verbrennungskammer

®

®
=

@

7. HERRAMIENTAS ESPECIALES

Nombre de la herramienta

Namero de {a herramienta

Aplicacion

1. Medidor del nivel del flotador

2. Llave B de ajuste de vélvulas

3. Cortador de asientos de vdlvula, 45° ©27,2
4. Soporte del cortador

5. Cepillo de limpieza

07701- 0010000
07708 - 0030400
07780 - 0010200
07981 - VA20100 6
07981 - VA20101
07998 - VA20100

Inspeccion del nivel del flotador del carburador
Ajuste de la holgura de vdlvulas
Reacondicionamiento de asientos de vélvula (ADM/ESC)

Reacondicionamiento de asientos de valvula

Limpieza de la camara de combustion.

®

®

=

T T

@

2-5



HONDA
GCV135 - GCV160

8. TROUBLESHOOTING

a. GENERAL SYMPTOMS AND POSSIBLE CAUSES

Drain old fuel. Fill tank
with fresh gasoline.

I Hard starting. } > CARBURETOR FLOAT CHAMBER
contains stale gasoline.

| SPARK PLUG disconnected or no Inspect: P. 2-9
spark at plug.
*’[ FUEL FILTER clogged. Clean: P. 3-6

Readjust: P. 3-5
Disassemble and inspect:
P.6-4and 5

—>| CARBURETOR out of adjustment.

4’| IGNITION COIL air gap incorrect. Readjust: P. 7-5 ]

"l IGNITION COIL fauity.

Inspect: P. 7-5

Inspect: P. 3-3

—’{ SPARK PLUG faulty.

——’{ GOVERNOR out of adjustment.

Readjust: P. 3-6

Inspect: P. 3-3

Engine lacks power. ,—-—’L SPARK PLUG faulty.

——= AIR CLEANER clogged. Clean: P. 33

—*{ GOVERNOR out of adjustment. Readjust: P. 3-6

—»{ VALVE CLEARANCE incorrect. Readjust: P. 3-4

VALVE OR VALVE SEAT worn or
damaged.

Inspect and correct:
P. 8-18 and 19

CYLINDER, PISTON or PISTON
RING worn.

Disassemble and inspect:
P.8-4,7,13 and 14

Clean or replace: P. 3-8

[ LTI ] ]

—" SPARK ARRESTER restricted.

2-6



HONDA
GCV135 - GCV160

sufficiently.

——{ CARBURETOR out of adjustment. Readjust: P. 3-5
Disassemble and inspect:

P.6-4 and 5

Engine will not rev >JIIGNITIONCOILfauIty. ]-———] Inspect: P. 7-5 J

SPARK PLUG faulty. Inspect: P. 3-3 ]

—{GOVERNOR out of adjustment. l————{ﬁaadjust: P.3-6 J

Y

Poor performance at >{ CARBURETOR out of adjustment. ’————> Readjust: P. 3-5
high speed. Disassemble and inspect:
P.6-4 and 5
——*{ SPARK PLUG faulty. Inspect: P. 3-3 J

-——{ AIR CLEANER clogged. J—————| Clean: P. 3-3 l
——I GOVERNOR out of adjustment. }———FReadjust: P. 3-6 J

Poor performance at >{ CARBURETOR out of adjustment. }———» Readjust: P. 3-5
low speed. Disassemble and inspect:
P.6-4 and 5

——| AIR CLEANER clogged. J————‘ Clean: P. 3-3 J
——={ GOVERNOR out of adjustment. ————={ Readjust: P. 3.6 ]
——1 VALVE CLEARANCE incorrect. Madjust: P.3-4 |

2-7



HONDA.
GCV135 - GCV160

b. HARD STARTING

Move the fuel valve to the ON position.

1. First, check the fuel level in
the tank.

No fuel

Add fuel and restart the engine.j

Sufficient fuel

y

2. Remove spark plug and
inspect for wet or fouled
electrode.

\i

Dry

» Check for blockage of the fuel
tube or filter.

+ Check for blockage in the main
jet or nozzle of the carburetor.

Wet

|
3. Check the ignition system

« Clean electrode and restart,
taking care that the choke is not
closed too much.

+ If flooding is severe, check the
carburetor float valve.

(P. 2-9).

No spark or weak spark ———»

Ignition system faulty (P. 7-5). —I

Good spark
|

y

4. Check the cylinder compres-
sion.

Abnormal compression ————»

Normal compression

/

5. Install the spark plug and
restart the engine.

CYLINDER COMPRESSION CHECK

1} Remove the spark piug and install a compression gauge in

the spark plug hole.

2) Pull the recoil starter several times with force and measure

the cylinder compression

« Check that the valve clearance
is correct.

- Check to see whether excessive
carbon has accumulated in the
combustion chamber.

* Check for defective valves o